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F1TH 470 498 968 S515|KFIES 10 13 23 9
m2TH 226 248 474 225||KFH & 8 5 13 8
F3TH 506 494 1,000 497|| KF1EEr i 89 91 180 76
m4TH 631 609 1,240 608||KFF & 273 286 559 262
mS5TH 1,122 1,122 2,244 L14\F51TH 19 19 38 15
1TH 912 919 1,831 891([F&2TH 25 15 40 19
2TH 324 320 644 28| KFEEF 96 108 204 91
+3TH 330 323 653 ONFHE1THE 30 21 57 22
m1TH 359 334 693 30| RFRHS 212 211 423 159
m2TH 830 862 1,692 82| XHE1TH 25 17 42 21
m3TH 751 753 1,504 T48||KFFEHEE 116 100 216 82
RFEF 1,194 1,050 2,244 1,025\ € 1TH 18 14 152 57
R1TH 796 758 1,554 N|FERE2TH 150 163 313 154
®2TH 176 854 1,630 T16|K=F 5 92 105 197 88
R3TH 125 696 1,421 662|| K =FF 5 76 82 158 85
®4TH 362 363 125 349|| K=FHEF 95 90 185 17
®5TH 523 516 1,039 496|| K F R 88 18 166 69
#&81TH 1,003 1,084 2,087 1,012|[% 1 %& 207 176 383 300
#e2TH 266 284 550 205(|%k 2 & 310 344 654 3N
Bm1TH 2176 299 575 290||% 3 & 254 237 491 301
m2TH 340 329 669 314(|%k 4 & 599 523 1,122 803
RFREFFE 203 200 403 175|[% 5 & 246 252 498 357
KF I3 256 266 522 216(|k 6 & 156 144 300 17
RF T 971 982 1,953 690\ 7 & 122 134 256 83
RFFE 1,108 1,075 2,183 880(FERM 1 TH 355 373 128 333
RFMHBEN 505 494 999 362(FERM 2TH 528 542 1,070 501
PN ) 206 200 406 186|FHM 3 TH 216 207 423 196
ARFEERE 124 121 245 16(|FHMA4TH 273 267 540 239
RFHEFFE 170 162 332 148

RFLEFH 1,224 1,211 2,435 1,024

EEH1TH 451 479 930 395

ARFHERE 221 194 415 202

RFESHH 286 256 542 236

RFHEARN 304 219 583 255

KRFKRIL 189 167 356 151

RF2EHH 582 515 1,097 436

RFHE 17 20 37 15

RFTFHNHA 114 92 206 90

AFEFHH 85 19 164 69

RFETEH 179 211 390 191

RFHEEE 66 60 126 56 B 24,131 24, 461 49,192] 23,228




